3. ZIRBKDEEBAEERDHER

(FEE)
X1 X2 %3
EHFIHE x HEHEAER x  EAEEANEER() = mMYSYUOREEFE |mMYVDOEEEMNE  THREHEE
2,445 0.8560 0.16074 336.40 336.40 + 11,170 % 100
EERMEE
= 3012
(ZZEYER] X1 X2 %3
THrHE x MERAEER x AREMNEED) = MAYOEEEANE |MUYDEEREMNE  FHRETEM
3,123 0.8560 0.16074 429.68 429.68 - 10,493 X 100
RERAIER
= 4095
(ZBIEHKIEICE TS FEEBEI VOB I EmiELEE]X4
TEE 84.1% X 30120 = 0.02533
S EYUER 15.9% X 4095 = 0.006511
(ZBEMHKIBIZEIT5EERAEBLLE)
0.02533+ 0.006511= 0.03184
¥1., A—h—FHORFAFHBOTYEETEHGEL LTHEH (48)
2. 2025FENERROREHEIZONT (2H)
3. A—H—BUHOBEEDOFEIEEZHFE LTEE (48)
¥4, BKIBRGICETSFEEIBEILEYEOBITBELRIZONT (48)
4. ATLUMKDEREBHEE (RHREFHAER 2001FER THHKkHMEEEIKY)
i IsEES FHEE B
FRAI7ILRBEK 0.310 x 0.03817(X%) = 0.01183 X. PRI7ILAHKE O EE
BRERFRIL—TD12T—R K 0.354 x 0.03597 = 0. 01273
FIRFHK 0.836 x 0.03184 = 0.01070
0. 03526
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